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2x+1==(3x-1) (x+1), LA g(x)FE(-o0,

-1>$n(1—,+oo)ujmja B AE
(-1, 5| EAE B FFEAL Q00 D=

=1.

B

g(-1)=-1,[g(x) ]mmfg( 3 ):%
Bk m BT R (-1, > ).

(3)PHH /(x)=3x2ax-a=3(x- 5 |
(x+a), H a0, T3 x<-a, 5k x>g—ﬁﬂ‘,

f ’(x)>0;%’t—a<x<g—ﬁﬂ“,f "(x)<0.
It BRI B £ (x) Y B 32 39 X [A] Ry

(-oo,-a)$u(3 )ﬁﬁl 6 X 5]
a5 ).
Mael3, GJHT el1,2],-a<-3.
Mxel- 2,2J,

FFLALE(X) Jpw=maxt f(-2),f(2) 1,
N (2)-f(-2)=16-4a%<0,

B LALE(X) Jpm=f( -2 ) =-8+4at+2a%+m.
MW (x)<17E[-2,2] FAE/GT,
FrLALE(X) <1
Bi-8+4at2a*+m<1,

Bi4 ac(3,6 0T,

m< 9-4a-2a H 3.

, 3 9y 9-da-2e 1513.6] 1Mt/
sin _1 . d= [//( AP() F 7N
2sin| 2= | A= 7 Q Yo-g7.
W = ! R R 1 2VE=2 Frd m<-87.
SRR B sin| 2 | = Sy POI =202 FF LS m IR —o0,-87 .
#3m



